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LOGIC AND PHILOSOPHY

Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS

Q. No. 1 carries 1 mark each 1x12 = 12
Q. Nos. 2-13 carry 2 marks each 2x12 = 24
Q. Nos. 14-23 carry 4 marks each 4%x10 = 40
Q. Nos. 24-27 carry 6 marks each 6%x4 = 24
Total = 100

[124A

[ Contd.



(2)

1. Answer the following as directed : 1x12=12

e afeR fotmrpia Teq s :

(a) Logic is a positive / normative science,
( Choose the correct answer )
e Ty |/ Sy R |
(= TeRb (qz S )

(b) The sign of relation between the subject and the predicate
terms is known as

( Fill in the blank )
S o @3} Regd «10m W A e Bl 9 fifve |
| (xR 7 72
(c) State one advantage of the use of symbols in Logic.

SHIEIC AP IR G0 R4 TCHY FCA |

(d) ‘O’ proposition distributes subject term / predicate term.

( Choose the correct answer )
4O’ 35 Souen oM/ R om e IR
' (%% Tl @RS )

(e) What is the position of middle term in the Second figure of
a syllogism?

b e TS FEA @R g I ?

(f) ‘Not’ (~) is a logical constant / propositional variable.

( Choose the correct answer )

A (~) 97 S SRR / o RS |
(wm Teafb e )
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(g) DARII is a valid mood of First / Second / Third figure.

( Choose the correct answer )

DARII 2= / fa81 / 9@ siegrc (34 1S |
(o= TeRlb @ e )

(h) Under what condition, a conjunctive function becomes true?

IS G TS T T T 7

(i) How many Vedic systems are there in Indian philosophy?

SRR Wity b (3 Seery R ?

() ‘‘Mind at birth is a clean slate or tabula rasa.”” Who said this
statement?

R T R T <l SRS 31w e 1 39 @
AR 2

(k) How many Pramanas are accepted by Indian philosophy?
SIFe e T AN T 0 =W 2

(I) According to Idealism, the object of knowledge has its
existence independent of mind. Is the statement true?

SRACA WO, Wi REE W (AT Toqerd SRgae | I
A%y Ft 2

2. What is material truth? Give example, 1+1=2

IRTS ol Pt 7 THRRE TS |

3. Define negative proposition with example. 1+1=2

THIZAPTZ 7 @fF I6cR AR WIS |
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of simple

4. Define simple proposition. Name different kinds
1+1=2

proposition.
5] 60 e WG | ] 60T IO e afer N Seamd Pl |

5. State two characteristics of Deductive Inference.

s wreptieR it CafiEy S S |

6. What is immediate inference? Mention any one kind of immediate

inference. 1+1=2

G SN FF A7 S TR (@ (A G PR SCEd
T

7. Write any two general rules of pure categorical syllogism. 2

Sl TRCorS T (@ e i ST B ceea |

8. Write two valid moods of Third figure. 2
POR FRFICR b (34 Y& 7N CoICl |

9. State any two characteristics of symbolic logic as laid down by
C. L. Lewis. 2

1. w2, 201 eRfde PRR SFREIER @ @Il b (AfREs Seas e |
10. Symbolize the following propositions : 1+1=2
e oIl HSRT et ek e
(a) The weather is bright and sunny.
szl Tege 9 IR |
(b) If it rains, then the crops will grow.

ﬂﬁﬁﬂ) Wlﬂal“ﬁﬂ@r&im|
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11.

12.

13.

14.

18.

16.

( 5)
What is innate idea? Give an example of innate idea. 1+1=2
TGS {199 B ? TPETS 4 G5 TR WS |

State any two points of difference between Philosophy and
Science. 2

o @R R e @ e ot e S e

Mention any two characteristics of idealism. 2
CIRAITE (A I G G Seay e |

Explain the nature of Copula. 4
SRATSCPFT A 47 T |

Define proposition according to traditional logic. State two points

of difference between sentence and proposition. 2+2=4
RIS SHAT TP 60 K& WS | A G DR T AR

ufb *fefer Seay I |

Reduce the following sentences into strict logical form : -
e Ipefie SERERPTTe 0T TR T -

(a) Any student can do this.
@ @I Tag 9o FACS A |

(b) All good writers are not good speakers.

e T (@49 ©F TF 7 |

(c) Men are seldom happy.
T e 3 2 |

(d) Virtuous alone are happy.

@ AT A3
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17. What do you mean by distribution of terms? Explain. 4
[T Il FBICS @RI 7 WA AT |
18. What is middle term? Describe the role of middle term in
a syllogism. 1+3=4
(@97 I ACE 7 WA (@R DS F, T 6 |
19. Reduce any one of the following syllogistic arguments into logical
form and test its validity : 4
IS TR S @ QI e SHwrrTe el “fHTs Bl
R G ¢34l efT T
(a) Plato was the teacher of Aristotle. Socrates was the teacher
of Plato. Therefore, Socrates was the teacher of Aristotle.
Cachl SMiREhee P | @b cabm e | STeR Ao
SHE6CeTR PP |
(b) He must be a coward, because he is dishonest and all
cowards are dishonest.
fof froa e, et fof Ty g9 e e opiiy |
20. What is pure categorical syllogism? Describe the structure of pure
categorical syllogism. 1+3=4
SR T W I T 2 S FReors s siee <t S |
21. Write a short note on metaphysics. 4

SRR B @ SERe BIPT CoIga |
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22. Explain any two characteristics of Indian philosophy. 4

SIS T €1 e 5f Ty e e |

23. What is Pratyaksa? Explain different forms of Laukika Pratyaksa
(ordinary perception). 1+3=4

ST UL 012 M erecarg ffn erpreprgz 0 Al |

24. What is Logic? Discuss its nature. 2+4=6
PRI I 901 7 47 g0 S A |
Or /%41
What is simple proposition? Explain different forms of simple

proposition with examples. 2+4=6

9] o4 FICP 081 7 14 qoeae <o W@Wliﬂqﬂ?m?{ﬂWl

25. What do you mean by modern logic? Discuss the relation
between modern logic and traditional logic. 2+4=6

e HREM T T AR SR SR gR) R
SR eE T Sl FAl

Or /991

What do you mean by general proposition? Explain different

forms of general proposition with examples. 6

el o qECS B R TR D [on AorpTR rRaere
I |
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26. What is truth-function? State the name of its basic forms by
giving truth tables for each of them. 2+4=6

NO-Fo IS QA7 47 YA RPN AN Temy el GRS
W] SIS oS P |

Or /[T

Construct truth table for any three of the following propositional
forms and determine whether it is tautology, contradictory or
contingent : 2+2+2=6

R T Semz (e @ @ e st et s 0T @R
ClRglel g, FosRa w1 WRWE INREE ey 5

(i) pDOpvgq
(ii) (p-q)op
(iii) (p-q)-(pvq)
(iv) ~p2D(p-q)

27. What is empiricism? Explain four characteristics of empiricism.

2+4=6
TREwSR™ FIC 071 7 HSWORIHE SRS (IR T ¢ |
Or /9<[1
What is realism? Mention four characteristics of realism. 2+4=6

AT FICF A0 2 WA SR 3D Seg ¢! |

* % %
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